Adv Math 6 - Unit 2: Rratios, Rates, Proportions Name: KE\!

End of Unit Test Study Guide
Class Period: 1 2 3 4 Date:

Answer the following questions on a separate sheet of paper and turn fn with all work shown to get full
credit.

1) Whatis the difference between arate o unlt rate? a_ VCH'G S OOmmr'Som
of TWo  numbers w/ dif , O ww ate 1S &
2) Is== - 2q proportion? Why or why not? How do you know? SPCCICII ‘}‘6 UJ}’EFC
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3) Fillin the missing VEHIEW?WI\G&? tg@i 3 62| NO, hot pI’O rtona
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30 _ %) Find 30% of 400 400 @ 5 m (§S = 0, Since

1?340;)) Determine the missing volue l—=§ IZ-E- -g- =95 the numbefS
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7) Write the rate oso unit rate [including 9 tickets WC n T e% ,
31.S0 - q = (3 350 o +he vafi
8) Maren drove 245 miles in 3.5 hours. rcve—42 miles in 7 hours. oren Tt e ua
245:3.S = Fomphh  42F 3 - (I meh cb
8a) Who drove at the fastest rate of speed? M A REN]

8b) Justify your answer: _“WHEN | FOUND THE WNIT RATES, MAREN

WENT  MORE MILES N ONE Hour, THAN DONIKA

Lz N
9) Ephraim the Snake is 3 feet long. Asia the Fish is 49 inches long. 204 > [ F+ EPHEAIM= = by

How much longer is Asia than Ephraim? | T = 70 AsIA = 4qm
10) The table below shows the number of tickets sold for each movie. @ P"S A s 13 it
What does the ratio 5:3 represent? ‘ , EDK; |
Captain ;
Item Avengers Thor ATFSHEE Spider Man
Quantity Sold 12 15 30 10
NONE, THeERE IS NO (DMBO THAT 1S IN A
5.3 RATIO.
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11) The table below shows the cost for varying numbers of meals at a local restaurant.
If the ratio stays the same, determine the value of n.

Number of Meals Cost
3 T 836
8 //‘:’1_.2"_ $40
12 A $144 @:/2‘—4_0\1
20 A n

12) The ratio of red to blue socks in a drawer is 8:12. If 1here gre 80 socks in the drawer, how many are
blue? g - 12 B ~ _“%B8WE A8 BLUFE sacks
1z 2D ToTAL %%~ 0 TOTAL

>
13) There are 80 people eating in a Chinese restaurant. If 25% of these people did NOT order an
eggroll, how many people did order an eggroll? ?5 % DID EAT AN EGGROLL
S% OFS0 1Is (D, so b0 feeRl

14) David deposited $312in the ast week. If this wos 20% of his paycheck, how much was his ©
AN
paycheck? é)__z:_‘;/’rilﬁg-}L SXx 312 = ‘ﬁ S0 |
. W o S RoLL
15) Mrs. Katz is saving for a beach vacation. She needs to save $3,500. 3 s00
If she has only saved 30% of that amount, how much has she saved? o M 53 % 1050

lo 500
16) The prices of 3 different bottles of salad dressing are given in the table.
Which size bottle is the BEST value, according to the price per ounce?

Size Price
20 ounces $4.20 G L =BO= Zl/OE.- (15 OZ. bUH/’J
15 ounces $2.25 e ol .IS/OZ'. '
5 ounces $0.90 2% S5 18/02.

17) The weight of a rhinoceros is 8 kg. If there are 1000 grams in a kilogram, how many grams does

the rhinoceros weigh? OO0 9

18) Sixty liters of fruit punch were served at a party. If there are 1000 liters in a kjloliter, h

kiloliters were servede  _LOL = loGOL loocox = LD _
X kL L [evo 1000 X=,00b KL
19) If you spend $30 on dinner out want to leave a 20% tip for good servnce what woul

totalbilbe? DO % [.Z X863, | or 0% of 2p isfL  30+L 1535’

20) If a store sells a shirt for $16 and you have a 20% off coupon, how much would you pay for the
shirt before taxes?  |(, . & SIZ.XOI

21) How much would you pay for the shirt in question #20 including 6% sales tax?

N\
$13.5%| (2.50 x 1.06= (32568

round
u_p.
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